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1. HaCl'IOPT KOMILIEKTA KOHTPOJBHO-OICHOYHBIX CPEACTB

KonTtponsHo-onenounsie cpenctsa (KOC) npenHazHaueHbl [Uisi KOHTPOJIE M OLIEHKH
00pa30BaTENbHBIX JOCTIDKEHHH OOYYaloUIMXCsl, OCBOMBIIMX MPOTpaMMy Y4eOHOH AMCIUTUINHBI
WHOCTPAHHBIN S3bIK.

KOC BkIIO4aOT KOHTPOJBbHBIE MAaTepHallbl ISl MPOBEACHHUS TEKYIIEro KOHTPOIS U
MIPOMEKYTOYHOH arTectanuu B hopme muddhepeHIMpoBaHHOTO 3aUeTa.

KOC pa3paboTanbl B COOTBETCTBHH C:

OCHOBHOM TPOTPaMMOH  CpeIHEro MNpoecCHOHATIBHOTO 00pa3oBaHUs
15.01.36 «/ledhexTockomucTy;

paboueil nporpaMMoi yueOHOM TUCHUIUIMHBI HHOCTPAHHBIH SI3BIK.

no mnpodeccuu:

2. Pe3yJ’leaTbl OCBOCHHUSHA y‘leﬁHOﬁ AUCHUIIJIMHBI, IMOAJIC/KAINME IIPOBEPKE

[IpeameTHBIC pe3ynbTaThl OCBOEHUS YUEOHOU TUCIIUTUTAHBI

OcBoenne conepkanusi ydeOHOM aucuuiuiuHbl  «HOCTpaHHBIN
JTOCTIH)KCHHE CTYJICHTAMH CIICTYIOITUX MPEMETHBIX PE3YIIbTaTOB:

[TIP1: chopmupoBaHHOCTH KOMMYHUKATUBHOM HHOS3BIYHOM KOMIIETEHIIMH, HEOOXOJAUMOM IS
YCHENTHON CONMANM3aNN M caMopealn3alnidi, KaKk WHCTPYMEHTa MEXKYJIbTYPHOTO OOIICHHUS B
COBPEMEHHOM TIOJIUKYJIHbTYPHOM MUDPE;

[1P2: BnageHue 3HAHUSMHU O COLMOKYJIBTYPHOU crienn(rKe aHTIOTOBOPSIINX CTPAH U YMEHHE
CTPOHUTH CBOE PEUYEBOEC M HEPEUEBOE MOBEJCHHE aJCKBATHO JAHHOU CHENU(UKE; YMEHUE BBIICIATH
oO11ee U pa3IMyHOE B KYJIBTYPE POJIHOM CTpaHbl M aHTJIOTOBOPAIIUX CTPaH;

[TP3: npocTtwkeHue NOPOroBOrO YPOBHSA BIIAJICHUS AHIVIMHUCKUM  SI3IKOM  MO3BOJISIOIIETO
BBIITYCKHUKAM 0O0IaThCs B YCTHOM U MUChbMEHHOM (opMax, Kak ¢ HOCUTENISIMU aHTJIMICKOTO S3bIKa,
TaK U C IPEJICTaBUTENISIMU APYTUX CTPAH, UCHOJIB3YIOIMIMMHU JTaHHBIH S3bIK KaK CPEICTBO OOLICHUS;

[TP4: chopMHUpPOBAaHHOCTH YMEHHS WCIIOJIH30BAaTh AHIJIMHUCKAN S3BIK KaK CpPEICTBO  JUIs
noiyuyeHuss  MHGOpPMALMM W3 AHIVIOSA3BIYHBIX ~ MCTOYHHMKOB B 00pa3oBaTeNbHBIX U
camMo00pazoBaTeIbHbBIX LIETIX

SI3BIK»  00ecIieunBaeT

Pe3y.]'ll>TaTl>l Oﬁy‘lel{l{lfl (OCBOCHHLIC YMeHus, YCBOCHHbIE OcHOBHbBIE OKAa3aTeIn

3HAHUA)

OLICHKH pe3yabTaToB

I1P1: chopMupOBaHHOCTH KOMMYHUKATUBHOMN
HMHOSI3BIYHON KOMIIETEHIIMH, HEOOXOMUMOM IS
YCHEIHON COMaNIN3aliy U caMOpean3alui, Kak
WHCTPYMEHTa MEXKYIBTYPHOT'O OOIICHHS B
COBPEMEHHOM IOJHKYIHTYPHOM MUPE;

-OCYILIECTBIISIET 3arpoc 1 000011eHIe HH)OpMALIUK Ha
AHTJIMHCKOM SI3BIKE;

-(opMyIHpyeT CBOE OTHOLICHHE K BHICKA3bIBAHUIO
cobeceIHNKa;

-MHHIUHAPYET ¥ TOIEP KUBAET Oecemy 10 MpeIoKeHHON
curyanuu / Teme /mpoGiieme;

-BBIOMpAET S3BIKOBBIE M PEUEBBIE CPE/ICTBA B
COOTBETCTBHH C CHUTYyaIlHel / TeMoii /

po0IeMoit o0IeHus;

-HCIIOJIb3YET PEUEBBIC KITUILE JITs

o(opMIICHHS PETUTHK;

-YIoTpeOIIseT TeKCHKO-TPaMMaTHYECKHE CTPYKTYPHI;

[IP2: BrmameHwe 3HAHWAMH O  COIMOKYIBTYPHOH
cnen()UKe AaHTIIOTOBOPAIINX CTPAaH U YMEHHE CTPOUTH
CBOE PEUCBOE U HEPEUEBOE MOBECHNE aJICKBATHO TAHHOM
cnen(yKe; YMEHHE BBIIENATH OOIIee W Pa3InIHOE B
KYIIbType POIHOM CTpaHBI U aHTJIOTOBOPSIINX CTPAH;

- COCTaBJISIET CJOBECHBIM COLIMOKYJIBTYPHBII MOPTPET
CBOCH CTpaHBI M CTPAHBI/CTPAH U3y4aeMoro s3bIKa Ha
OCHOBE Pa3HO00pPa3HON CTPAHOBEIUYECKOU U
KyJIbTypOBEAIECKOW HH(OpMALNH;

- TIPENICTABIIACT YCTHOE COOOIIEHUE HA 3aJaHHYIO TEMY (C
MpeBAPUTEIBHON TIOATOTOBKON);

[1IP3: nocTwkeHWe TOPOTrOBOTO YPOBHS — BIAICHHA
AHIVIMICKUM  SI3BIKOM  TTO3BOJISIIOIIETO  BBITYCKHUKAM
oOmarbesi B YCTHOW W MHChMEHHOW (opmax, Kak ¢
HOCHTENSIMH  aHTJMHCKOTO  s3bIKa, Tak M C

- TIOHUMAET OTHOCHUTENBHO MTOJTHO (OOIIHIA CMBICIT)
BBICKa3bIBaHUS HA M3y4aeMOM HHOCTPAHHOM SI3BIKE B
Pa3IMYHBIX CUTYALUsIX OOIICHNS;

-pacmo3HaeT JIEKCHIECKHE CTUHAIBI B TUATOTaX,




NPEICTAaBUTEISIMU  JPYTUX  CTpaH, UCIOJb3YIOIUMH| MOHOJIOrax;

JTAHHBIH S3BIK KaK CPEJCTBO OOIICHUS; - ONHCEHIBACT CYIIECTBCHHBIC YePTHI 00HEKTA,
0003HAYaeMOro JIEKCHUECKON eIUHHUIIEH;
- Pacro3HAeT CMBICI MOHOJIOTUYECKON U TUATOrMUECKOM
peun;

I[IP4:  chopMHPOBAHHOCTH  YMCHHS  HCIOJNB30BaTh| - IOHUMAET OCHOBHOE COJICP)KaHUC ayTCHTHYHBIX ayIuo-

AQHIVIMACKUN  S3BIK  KaK  CPEACTBO  JUIA  IMOJNYYCHHS
uHpOpMAlMKH W3  AHIJION3BIYHBIX  HCTOYHHMKOB B
00pa30BaTENBHBIX H CAMOOOPA30BATEIBHBIX IIEIISIX

W BUJICOTEKCTOB TIO3HABATENILHOTO XapaKTepa Ha TEMBI,
npeiaraeMble B paMKkax Kypca, BRIOOPOYHO M3BJIEKATh W3
HHUX HEOOXOIMMYI0 HH(OpPMALHIO;

-4UTaeT TEKCTHI OOLIEKYIBTYPHOT0, OOIIEHAYIHOTO
XapakTepa M TEKCTHI 110 CIeNHaIbHOCTH;

-TIOHUMAET JIETaJIN TEeKCTa, IPUINHHO-CIIEICTBEHHBIE CBSI3H
Mexay hakramu u

COOBITHSIMH,

- OmpeJeNsieT coiepyKaHke TEKCTa 10 3HAKOMBIM CIIOBaM,
MHTEpHALMOHAIILHBIM CIIOBaM, reorpapuyeckum
Ha3BaHUSAM U T.IL.;

- pacrio3HaeT 3Ha4YeHUs CJIOB TI0 KOHTEKCTY;

- BBIJIEJISIET TIABHYIO M BTOPOCTENIEHHYIO HH(OPMAIIHIO;

- IEPEBOJIMT (CO CIIOBapeM) ObITOBBIC, IUTEPATYPHbBIE U
CrelajIbHbIe TEKCThI TEXHHYECKOTO COIEPIKaHMUS C
MHOCTPaHHOI'0 Ha PYCCKHUM U C pyCCKOI'0 Ha UHOCTPAHHBIN
SI3BIK

- CaMOCTOATENEHO

pabotaet ¢ nHdpopmanmei;

- oTOMpaeT nMpodeCcCHOHANBHO - 3HAYUMYIO HH(pOPMAIIHIO
Jutst 3p(heKTHBHOTO BHIMOITHEHUs Y4eOHO# 3a/1auu 1Mo
npeaMeTy;

3. Pacnipene/ieHne olleHUBAHNS Pe3y/IbTATOB 00y4eHHUsI M0 BUAAM KOHTPOJIA

HaunmeHnoBaHue 3j1eMeHTA

Buabl atTecTannu

YMEHUI WK 3HAHMI

Tekyuui KOHTPOJIb

IIpomeskyTounas
aTTecTanus

ITP1: chopMupOBaHHOCTH KOMMYHUKATUBHOMN
HMHOSI3BIYHON KOMIIETEHIIMH, HEOOXOMUMOM IS
YCHELIHON COMAIN3AalMM U caMOopealu3aLuii,
KaK HHCTPYMEHTa MEKKYIbTYpPHOTO OOILIICHUS B

paboTHr,
COBPEMEHHOM IIOJIHKYJIETYPHOM MHPE;

-YCTHBIE OTBETHI,
-HAOIIOAECHNE U OLIEHKA
BBITTOJTHEHHSI [TPAKTHYECKOM

JTuddepenunpoBanublii 3a4er

[1P2: BmageHne 3HAHUAMHU O COLMOKYIBTYPHOM|-YCTHBIE OTBETHI;
CHCL[I/I(i)I/IKe AHTJIOTOBOPAIUX CTPaH W YMCHHE -IIPAKTHYECKast pa60Ta;

CTPOUTH CBOE PEUYEBOE M HEPEUEBOE ITOBEIACHUE
aJIeKBaTHO  JaHHOW  crenupuke;,  yMEHHUC
BBIJICNIATh O0IIee ¥ Pa3sINYHOE B KYIbTYpE

POAHOI CTpaHBI M AHTJIOTOBOPSIINX CTPaH; TeMe;

-TEKYLLUI
BBICKA3BIBATHCSI 110 MPEIOKEHHOH

KOHTPOIb ~ yMEHHS

T1P3: JNOCTIKCHHE  TIOPOTOBOTO
BBIMYCKHUKaM  O0IIaThCs B YCTHOW U
MMUCBMEHHOW (opMax, KaK C HOCHTCISIMH
AHTJIMIACKOTO SI3BIKA, TaK WU C TPEACTABUTCIISIMA
JIPYTUX CTPaH, WCIIONB3YIOMIUMHU TaHHBIA S3BIK

KaK CPEICTBO OOIIEHYIS,

paboTHI,

YPOBHsI|-HA0IFOICHNE 1 OIICHKA
BIAJCHUS AHTJIMMCKHM S3BIKOM II03BOJISIONICTO BBIIIOJITHCHUS HpaKTHqCCKOﬁ

-KOHTPOJIb YTCHUS ¥ ayJUPOBaHUS
TEKCTOB CTPAHOBEAYECKOrO
XapakTepa;

-TECT 110 CTPAHOBEICHUIO;
-TIPOEKTHL;




11P4: C(l)OpMI/IpOBaHHOCTB YMEHUA UCIIOJIb30BATDH 'Ha6H}OHeHI/Ie H OLICHKa
AHTJIMHCKUH SA3BIK KakK CpCACTBO AJId MOJYYCHUSA|BLITTOJITHEHUS HpaKTquCKOﬁ
I/IH(l)OpMaHI/II/I U3 aHIJIOA3BIYHBIX HCTOYHHKOB Bpa60TLI;

O6pa3OBaT€HLHLIX u CaM006p33OBaTeJ'H)HBIX

-[IPAKTUYICCKUEC 3aJaHUs 110
OEIX

ay/IUPOBAHUIO;

4. PacnipenejieHHe THINOB M KOJHYeCTBA KOHTPOJIbLHBIX 3aJaHUIl MO 3JIeMEeHTaM MNpeAMeTHBbIX
pe3yJabTaTOB HA MPOMEKYTOYHOM aTTecTaAlMU.

Coneprxanue yueOHOro MmaTepuajia THl KOHTPOJIBLHOIO
no nporpamme Y/l 3aJaHusA

ITP1 | TIP2 | TIP3 | TIP4
Pa3znen 1. OcHOBHOe cogep:kanne
Tema 1.1. 3HaKOMCTBO v Y |KPl| V¥
Tema 1.2. Onucanue venoBeka Y Imp | P v
Tema 1. 3.CeMbs1, ceMeMHbBIE v KP2 | IIP v
OTHOILLICHUS
Tema 1.4.0nucanue xuiuiia, yaeOHoro| Y P | IIP v
3aBeICHUS
Tema 1.5. Paciopsnok aHs cTyzneHTa v Yy |[IP 1P
Tema 1. 6. X0o00u, nocyr Y | KP3 [I[IP |V
Tewma 1.7. Onncanue MecTONONOXKEHUS | Y v I1P
00beKTa
Tema 1.8. Marasunbl, TOBaphbl, )Y P vy
COBEpLICHHE
[TOKYIIOK
Tema 1.9 Ou3kynpTypa U CHOPT. v I[P | KP4
310pOBBI 00pa3 KU3HU
Tema 1.10. Dkckypcum u nyremectust | [1P v KP5
Tema 1.11. Poccus KP6
Tema 1.12. AHIIIOrOBOPSIIIME CTPAHBI Yy v 1
Tema 1. 13.HaygHO-TeXHIYECKUI P v 1P
nporpecc
Tema 1.14. TIpodeccun, kapbepa M [1P
Tema 1.15. UenoBek u npupoza. KP7
Pa3nen 2.IIpodeccuonaibHo HAPaBJIEHHBI MOIYJIb
Tema 2.1. JloCcTHKEHUS ¥ MHHOBAIMH  |Y T1P KP8
B 00J1aCTH HAYKH M TEXHUKH
Tema 2.2. MammHbI 1 MEXaHU3MBI KP9 |[1P
Tema 2.3. TIpoMblnuieHHOE M KP10 |[TP
000pymoBaHnE
Tema 2.4. CoBpeMeHHbIE v P v
KOMITBIOTEPHBIE TEXHOIOTHH B
[IPOMBIIJICHHOCTH
Tema 2.5. IHCTpyKIIMH. pyKOBOJCTBA [P |[IP |ITP




5. CTpYKTYpa KOHTPOJIbHOIO 32/1aHUS

5. 1 3ananus Tekylmero KOHTPOJsi

KonTtpoabHnas padora Nel
«HacTosiiee mpocroe BpeMsi M HacToOsIIee AJIUTEIbLHOE BpeMsD»
NHcTpyknus:
BynbTe BHUMATEIbHBI IPU BBIIIOJHEHUH 3a/1aHUS.
Bpewms Ha BeinonHenue — 40 MUHYT.

Bapuanr 1
3amaHus OtanoH VYpoBenb
OTBETOB YCBOEGHUSI
1 | BeiOepure npaBUIBHBIH OTBET: a) 1

....... from?- 1 am from London
a) Where are you b) When are you c¢) Where you are

2 | BoiOepute mpaBUIIBHBIN OTBET: b) 1
...... is your father? - Andrew Nikolayevich.
a)What  b)Who c) When

3 | YnorpeOute npaBuibHy0 (HopMy riiaroia: a) 1
In the morning my mother ..... breakfast for us.
a) cooks b) is cooking c) will cook

4 | BoiOepuTe NpaBUIbHBINA OTBET: C) 1
My father is working in the garden while mother is cooking.
a) Moii mana paboTan B cajy, 1IoKa MamMa TOTOBUJIA.

b) Moii mama yxe paGotaer B cany, Moka MaMa rOTOBHIIA.

¢) Moii namna paboraer B cay, oka MaMa TOTOBUT.

5 | Boibepure U BCTaBbTE B MPEATIOKCHHE TIPABUITHHYIO b) 1
¢dopmy rmaroma: They ...... TV at the moment.
a) watch b) are watching  ¢) will watch

6 | YcraHoBUTE COOTBETCTBUE MEXIY CIIOBAMHU M UX IKBHUBAJICHTAMHU: 1
Croga:
1. kind; 1-
2. organized; 2-
3. hard-working; 3-
OKBHBAJICHTHI:
A. TpyIomOOUBEIi;
B. no6psii;
C. opraHM30BaHHBIH;

> 0w

7 YcTaHOBHTE COOTBETCTBUE MEY CIIOBAMH U UX 1
CHHOHUMAaMHU CJIOBa.
charming ; 1-B
sociable; 2-C
determined; 3-A
making a firm decision to do something;

pleasant or attractive;

liking company enjoying spending time with other people;

OT™P>whE

8 | Berabre riiaron to be B HyxHO# (opme: are 2
How ... you?I ... fine. am

9 | JlononHuUTe MPeUIoKEHUE TPUTHKATEILHBIM Her 2
mecronmenneM: She is a beautiful girl. ... dress is blue.

10 | Haiimure u ucripassTe ommoOKy: He live in Perm. lives 2

Bapuanr 2

3amaHus Drtano” YpoBeHb
OTBETOB YCBOCHUS




BeiGepure npaBUIIbHEIA OTBET:
... come in? - Yes, sure.
a)Canl b)lImust c)Mayl

BeiGepure npaBUIIbHEIA OTBET:
... isyour father? — He is a doctor.
a) What b) Who c¢) When

a) 1

BriOepute 1 BCTaBbTE B MPEIUIOKEHUS MPABUILHYIO (POPMY I1aroia:
He ... a book now.
a) reads b)isreading  c) will read

b) 1

BeiGepure npaBuIIbHBI BapHaHT TIEPEBOJIA C aHTIIMHCKOTO S13bIKa Ha PYCCKHIMA:

They come home at 6 p.m.
a) OHH NpUXOIIIH JOMOH B 6 yacoB Beuepa.
b) Ownwm npuxoasr momoii 6 yacoB Beuepa.
c) Omnwu npuayT I0MOH B 6 4acoB Beuepa.

BriOepute 1 BCTaBbTE B MPEIUIOKEHUE MPABIIBHYIO ()OPMY ri1arosia:
| ... early in the morning every day.
a)getup  b)gotup c) will get up

yCTaHOBI/ITC COOTBETCTBUEC Me>1<11y CJIOBAMHU U UX DKBUBAJICHTAMMU.
Crnosa:
1. honest;
2. loyal;
3. energetic.
OKBUBAJICHTHI:
A.DHEPTUYHBIH;
B. uecTHBIi;
C. BepHBIH.

N
> 0O w

YcTaHOBUTE COOTBETCTBHE MEXAY CJIOBaMU U X CHHOHUMAaMM:
CioBa:

1. intelligent;

2. confident

3. bossy.
CHUHOHHMBI:
A. feeling sure about your own ability to do things and be successful;
B. always telling people what to do;
C. clever, good at learning.

1-C
2-A
3-B

Bcrassre rmaron to be B HyxHO# dopme: | ... glad to see you. How ... you?

am 2
are

9

JononHuTe IpeaokeHne IPUTHKATEIbHBIM MecTonMenreM: He is a sportsman.

... hame is Oleg.

His 2

10

Haiimure n ncnipasbTe ommOKy: Rita have a new car.

has 2

Kputepun ouenkn: (dis mecma)

IIpoueHT pe3yJbTATHBHOCTH (MPABUJIBHBIX OueHka YpoBHsI OATOTOBKH
OTBETOB) 0asJ1 (0TMeTKa) BepOaTbHBII aHATIOT
90 - 100 5 OTJINYHO
75 -89 4 XOpOIIO
60 - 74 3 YIIOBJIETBOPHUTEIHHO
Mmenee 60 2 HEY/IOBJICTBOPUTEILHO




KonTtpoabsHnas paGora Ne2

Konmpons mononocuueckoi peyu — oOydaromuecss TOTOBAT MOHOJIOTHYECKOE BBICKA3bIBAaHHE MO
M3yuyeHHOU Teme: « Mosi cembsi». B momoms Ui MOATOTOBKM Ha ypOKax OBLIM MPOYUTAHBI U

NEPCBCACHDBL 2 TCKCTA, a4 TAKKC MMPOXoJuJia MMOATOTOBKA 110 NICPECKA3y JaHHBIX TCKCTOB.

My family

Our family is not large. It consists of four people. They are: my mother, my father, my sister
and me. My mother’s name is Anna Petrovna. She is 40. She is a skilled doctor. Anna Petrovna is a
very nice woman. She is tall and thin. She has big brown eyes, a turned-up nose, her hair is long and
fair.

My father’s name is Boris Ivanovich. He is 42. He is a worker. Boris Ivanovich likes his work
very much. He is tall. His hair is short and dark. He has a round face. His eyes are big and grey.

My sister’s name is Olga. She is 15. She is a pupil. Olga is in the 10" form. She studies well
and has many friends. My sister likes music, and she plays the piano.

My name is Larisa. I am short and thin. My hair is long and fair. My eyes are blue. | like to
dress in a modern style. | am 14. | am a 9" form pupil. Russian, History and English are my favourite
subjects. | want to use English in my future work.

One of my hobbies is music. | am fond of dancing at discos. | like to buy and read books too.

In the evening all the members of our family like to watch TV. Sometimes we go to the theatre
or to a concert. When the weather is fine, we like to go to a walk.

About my family

My family is not very big, just a typical family: Dad, Mom, me, my brother and sister and our cat.
My Mommy is forty-one, she is a teacher of Spanish at the University. She is a born teacher. She has
teaching abilities. My Dad is forty-two, he is a professional painter, he works for a design company.
My parents both like their work very much.

My older sister Natasha is nineteen, she goes to the University, she wants to be a teacher of
history and fiction.

My younger brother Igor is only six years old, he goes to the kindergarten. He is very funny, |
like to spend my free time teaching him something. Igor likes to play with our cat.

My grandparents are retired. They like gardening. They spend a lot of their time in the garden.
They grow vegetables and fruits. We enjoy having fresh vegetables and green on our dinner table.

I love my family very much. We always help each other. Everyone in my family is my best
friend.

Kpurepuu oleHKH YCTHRIX PAIBECPHYTRIX OTBECTOB:

Onenka KoMMyHHKaTHBHOE IIpousHomenne Jlekcuxko-
B3auMojelicTBHe rpaMMaTH4ecKas
NPaBUJIBHOCTH pe4n
«5» AJleKBaTHas €CTECTBEHHAS Peub 3By4nT B ecrecTBEHHOM TeMmIle, | Jlekcuka ajexBaTHa
peakiys Ha peTUTUKH yJanmiicss He Jenaer rpyobIx CHTYallUH, PEIIKHE
cobecennuka. [IposBusercs (hoHETHUECKUX OMHOOK. TpaMMaTHYECKHE OIINOKHU HE
pedeBasi HHUIMATUBA JJIS MENIal0T KOMMYHHUKAIHH.

pemeHn A MOCTaBJICHHBIX

KOMMYHHUKAaTUBHBIX 3a/1a4.




«4» KommyHukanus 3atpynHeHa, B oTenbHBIX ClIOBaX JOITYCKAIOTCS
pedb yJamierocst HeorpasJaHHo | (oHeTHYecKne OMMOKY (HanpuMep,
ray3upoBaHa. 3aMeHa, aHTJIMHCKUX (poHeM
CXOIHBIMH pycckumMu). OOtmast
MHTOHAIMS B OOJNBIION CTENeHN
00yCIOBJIEHa BIUSIHUEM POTHOTO

I'pammarnyeckue w/wim
JICKCHYECKHUE OMTUOKH
3aMETHO BJIMAIOT Ha
BOCHPUATUE PEUYH YUAIIETOCS.

S3BIKA.

«3» KomMyHuKanms cymecTBeHHO Peub BocpuHNMaeTCs ¢ TpyIOM U3- | Yuammiics nenaer Ooblioe
3aTpyJHEHA, yJaluics He 3a OONBIIOro KOJIHYECTBA KOJIMYECTBO TPYOBIX
MIPOSIBIISIET peUEBOi (oHeTnueckux omuOOoK. IHTOHANMsT | rpaMMaTHYECKUX W/HIIH
VHHIATUBEIL. 00yCIOBJICHa BIUSIHUEM POTHOTO JIEKCUYECKHUX OLINOOK.

S3BIKA
«2» KoMmMyHuKaTHBHAS 331a4a He pelieHa BBUAY OOJBIIOr0 KOJIMYECTBA JIEKCHKO-

IpaMMaTHYCCKUX OINOOK.

KonTpoabHnas padora Ne3 “Holidays”
WNHcTpyknus:
Byapre BHMMAaTETbHBI TPH BBHITIOJHEHUH 3a/1aHUS.
Bpewms Ha BeimonHenue — 40 MUHYT.

3ananue ITajIoH
OTBETOB

1 The 25" of December is ... . a)
a) Christmas Day b) New Year ¢) Boxing Day

2 On Christmas Eve people put their presents under the... . C)

a) bed b) table ¢) New Year tree
3 Father Frost puts his presents..... . a)
a) under the New Year tree b) in bags c) in children’s stockings

4 Every year there is a big New Year’s tree in.... square. a)
a) Trafalgar  b) Times ¢) Red

5 The New Year’s tree is a present from people of .... To the people of Great Britain. a)
a) Norway b) Russia c) America

6 For Christmas dinner the English eat.... )
a) pizza b) hamburgers c) turkey

7 The day after Christmasis...... . b)
a) New Year b) Boxing Day ) Mother’s Day

8 A lot of Englishmen go to.... Square to see the Christmas tree. )
a) Times b) Red c) Trafalgar

9 English and American people often make ..... for the New Year. a)
a) New Year’s resolutions b) cars  c) houses

10 | New Year’s resolutions are..... . b)
a) greeting cards  b) promises for the New Year c) presents

11 | When do Americans celebrate Independence Day? a)
a) July 4 b) January 1  c) December 25

12 | When is Thanksgiving celebrated? a)
a) on the fourth Thursday of each November
b) second Monday in October
c) first Monday in September

13 | What is a traditional food for this holiday? a)
a) turkey b) chicken soup c) pancake

14 | What holiday do people celebrate on the 14" of February? b)

a) Thanksgiving Day b) Saint Valentine’s Day  c) Halloween

15 | What holiday is celebrated on March 17? a)

a) St. Patrick’s Day b) Thanksgiving Day c) Halloween




Kpurtepumn ouenku: (011 mecma)

IIpoueHT pe3yabTaATUBHOCTH (MPABUIbHBIX OueHka ypoBHsI NOAT0TOBKHU
OTBETOB) 02171 (0TMETKA) BepOaIbHbII aHAJIOT
90 - 100 5 OTJIUIHO
75 -89 4 XOPOIIIO
60-74 3 YIIOBJICTBOPHUTEIBHO
MeHee 60 2 HEYOBJICTBOPUTEIHHO
KonTtpoabHnas padora Ned «Sports»
HNucTpykuus:
Bynbre BHUMATEIbHBI TPU BBITIOJTHEHUH 33JaHUS.
Bpewms Ha BeimonHenue — 40 MUHYT.
Bapuanr 1
3ananue OtanoH VYpoBeHb
OTBCTOB VYcBoenus
Underline the correct variant: 1
An/a (instructor / referee) is a person who teaches a sport or practical skill. An instructor
Match the words in English and Russian: 1
1) skiing a)yJydinarh 1)- b)
2)cycling b)kaTaHue Ha JbDKAX 2)-C)
3)improve C)BEJIOCIIOPT 3)-a)
Match the names of sports and games with the names of the things: 1
1) basketball a) skates
2) ice hockey b) a basketball and a ring 1)-b)
3) figure skating  c¢) a stick and a puck 2)-C)
4) rowing d) a boat 3)-a)
5) golf e) a club and a ball 4)-d)
5)-e)
People who go in for different sports have different names. How do we call people | a footballer, 2
who: a gymnast
Play football, Do gymnastics
Guess what kind of sport it is. Translate the sentence into Russian: 2
It is a game played on a table using round wood bats and a small plastic ball.
table tennis
Fill in go, do, play: 1
1) ... tennis 1) play
2) ... skating 2) go
3) ... gymnastics 3) do
When did the Olympic Games begin? a) 1
a)777BC  b)77AD ¢)177BD
Who renewed the Olympic movement? b) 1
a) Ernest Hemingway
b) Baron Pierre de Coubertin
¢) William Shakespeare
When did Russia join the Olympic movement? b) 1
a) 1896 b) 1952 c) 1980




Bapuanr 2

3anaHue OtanoH VYpoBeHb
OTBETOB YCBOCHUA
Underline the correct variant: 1
A (coach/judge) is a person who decides on the result of a competition. a judge
Match the words in English and Russian: 1
1) skating a) OBITh B XOpoIIIeH hopme 1)-b)
2)swimming b) kaTanue Ha KOHBKAX 2)-C)
3)keep fit C) maBaHue 3)-a)
Match the names of sports and games with the names of the things: 1
Dtennis a) a yacht
2)badminton b) a chessboard and chessmen 1)-e)
3)chess c) boxing gloves 2)-d)
4)sailing d) a shuttlecock and racket 3)-b)
5)boxing e) racket and a ball 4)-a)
5)-C)
People who go in for different sports have different names. How do we call people a golfer, 2
who: play golf, go swimming. a swimmer
Guess what kind of sport it is. Translate the sentence into Russian: 2
It is a game played by two or four persons with a small hard ball which clubs into
holes. a golf
Fill in go, do, play: 1) play 1
1)...badminton  2)...windsurfing 3)...athletics 2) go
3) do
hen did the Olympic Games begin? ) 1
a) Russia b)Spain c) Greece
ho renewed the Olympic movement? 1
Abraham Lincoln )
William Shakespeare
Baron Pierre de Coubertin
When did Moscow host the Twenty- Second C) 1
lympic Games?
) 1896  b) 1952 c¢) 1980

Kputepun ouenkn: (dis mecma)

IIpoueHT pe3yIbTATHBHOCTH (MPABHIBHBIX OueHka YPOBHSI MOATOTOBKH
OTBETOB) 06anJ1 (0oTMeTKa) BepOaIbHBII aHAJNOT
90 - 100 5 OTJINYHO
75 -89 4 XOpOIIO
60 - 74 3 YIIOBJIETBOPHUTEIHHO
Mmenee 60 2 HEY/IOBJICTBOPHUTEILHO

KonTpoubnasi padora NeS
«Crenenn CpaBHECHUSA NMpUJjaratrejJibHbIX»
HNHcTpyknus:
Ey,Z[LT € BHUMATCJIbHBI IIPU BBITIOJTHCHUH 3alaHUs.
Bpewms Ha BeinonHeHne — 40 MUHYT.
Variant 1
Choose the correct answer:
1. The cruise ship is____of all.
a) the biggest  b) big  ¢) bigger  d) biggest




2.Bobis___ than Mary.

a) short  b) shorter  c¢) the shortest  d) more shorter

3. Your caris____than mine.

a) the expensivest  b) the most expensive

c) more expensive  d) expensiver

4. Mike is ___ ofall.

a) the tallest ~ b) the most tallest  c) the taller d) taller
5. Thistask is ___ than the other one.

a) more difficult b) difficulter

c) the most difficult d) the difficult

6. Thissound is___ I’ve ever heard.

a) the loudest  b) louder  c¢) loud d) the more loud

7. That singer is very___ .

a) popular  b) popularest c) the most popular  d) popularer
8. __ carisinthe park.

a) Smaller  b) The smaller  ¢) The smallest  d) The small
9. Sometimes | feel my English is getting____ .

a) worse b)) theworst c)bad d)the most worst

10. This is____way to the station.

a) the shortest ~ b) short  c) shorter  d) the most short
11. This highway is___than that highway.

a) wider  b) widerest  c) wide  d) the most wider

12. Thatis___ building in the city.

a) the highest ~ b) higher  ¢) the most high  d) higerest
13. This subject is____ for you now.

a) the most important ~ b) the much important

c) the worst important  d) better important

14. 1tis____ book I have ever read.

a) the interestest  b) less interesting c) more interesting d) the most interesting
15. This text is____ than that one.

a) difficult  b) less difficult  c) the most difficult  d) the difficultest
16. This news is____than I thought!

a) better b) gooder  c) the goodest  d) the bestest

17. She is____than my sister.

a) oldest  b) older  c) the most oldest  d) the oldest

18. My___ brother graduated from Moscow University.

a) elder b) oldest c) the oldest d) the most older

19. _ house is the library.

a) Near b) Nearer ¢) The nearest  d) The most near
20. Who is ___ footballer in Europe?

a) better  b) the best  c) the most  d) less

KonTposbnasi padora NeS
«CTenenn CpaBHECHUSA NpUJIaraTeJabHbIX»

HNucTpyknus:
Ey,[[LT € BHUMATCJIbHBI IIPU BBITIOJIHCHUH 3aIaHU.
Bpewms Ha BeinonHeHne— 40 MUHYT.

Variant 2
Choose the correct answer:
1. The yacht is ____than the speedboat.
a) bigger b) more big  ¢) more bigger  d) biggest
2. Lessyis___ dog in the world.



a) more attentive b) the most attentive

C) attentivest d) attentiver

3. This lesson is____than yesterday.

a) difficult  b) difficulter ~ ¢) more difficult  d) the most difficult
4. Hip-hop is____than Rock.

a) more popular  b) popularer c) popularest d) popular

5. Unix is____than Windows.

a) safer b) safest c) more safe  d) safe

6. | think that was one of ___days of my life.

a) the worst b) bad c)worse  d) less

7. Heisone of __ people | know.

a) the most stupid ~ b) more stupid  c) the stupidest  d) less stupid

8. I don’t understand why the study is in our life!
a) the most important b) more important
€) most important d) better important

9. Was the exam as____as you’d expected?

a) more difficult  b) difficult  c) less difficult  d) the most difficult
10. Heis_____any of his brothers.

a) more dangerous than b) most dangerous than

c) dangerous than d) dangerous

11. I live inthe ___ city of Russia.

a) best  b) most good c¢) most best  d) good

12. The weather is ____ today.

a) the much better  b) well ~ c) much better  d) more well
13. December is than August.
a) colder  b) more cold c) coldest  d) cold

14. Today, | feel___than yesterday.

a) weaker b) more weak c)weak  d) weakest

15. Itis____ book, than | read earlier.

a) the interestest  b) interested  c) interesting  d) more interesting
16. | hate_ weather.

a) winder  b) windy c¢) windest  d) more wind

17. I don’t read this book, itis__ .

a) the most boring  b) boringest ~ ¢) more boring  d) boring
18. My brother got up___than I did.

a) early b) earlier  c) more earlier  d) more early

19. My sister is____than I.

a) cleverer  b) more clever  c) the most clever  d) clever
20. This picture is____in this gallery.

a) beautiful ~ b) more beautiful  c) the most beautiful  a)) worse beautiful

ITAJIOH OTBETOB

Bapmuanr 1 Bapmuanr 2
Comparisons 1. a) 1. a)
2. b) 2. b)
3. C) 3. C)
4. a) 4. a)
5. a) 5. a)
6. a) 6. a)
7. a) 7. C)
8. d) 8. a)
9. a) 9. b)
10. a) 10. a)
11. a) 11. a)
12. a) 12. C)




13. a) 13. a)
14. d) 14, a)
15. b) 15. d)
16. a) 16. b)
17. b) 17. d)
18. a) 18. b)
19. C) 19. a)
20. b) 20. c)

Kpurepuu ouenku: (drns mecma)

IIpoueHT pe3yIbTATHBHOCTH (MPABHILHBIX O1eHKa YPOBHS MOATOTOBKH
OTBETOB) 02171 (0TMETKA) BepOabHBbII aHAJIOT
90 - 100 5 OTJIIMYHO
75 -89 4 XOpOIIIO
60 - 74 3 YJIOBJIETBOPHUTEIHLHO
MeHee 60 2 HEY/IOBJICTBOPUTEIHHO

KonTtpoabHnas padora Ne6
«I"ocypapcTBeHHOE YCTPOMCTBO, IPABOBbIE HHCTUTYThI»
WNHcTpyknus:
By,HBTe BHUMATCJIbHBI ITPU BBITIOJTHCHUH 3aIaHUs.
Bpewmst Ha BeimostHeHHe — 90 MUHYT.
I variant
Answer the following questions:
The United Kingdom of Great Britain and Northern Ireland
1. Who is the head of the British Government?
2. How many ministers are there in the Cabinet?
3. How many Houses does Parliament consist of?
4. Who is in the House of Commons?
5. Who forms the House of Lords?

2. Translate into Russian: the policy / policies

the government

Prime Minister
government policy /policies
to coordinate

the Shadow Cabinet

the majority seats
constitutional role

the Vice President

0. The Supreme Court

ROo~NoOMWNE

3. Translate from Russian into English:

BenukoOpurtanus -

MapJIaMeHTCKass MOHApXHS. Koponepa
SIBIISIETCS
oUIMAEHOM ITaBOM TOCYIapCTBA, HO OHA BBHITMOJIHSET MPEUMYIIIECTBEHHO
npencraBuTenbekue GyHkimu. [IpeMbep-MUHUCTP HA3HAYAETCS KOPOJIEBOA.

Bputanckuit mapimameHnt coctout u3 [lanatel o6muH u [lanater nopaos. [Tanata oOuuH
coctout u3 6500 n30upaemMpIx WieHOB MapiaMeHTa. OHM MUIIYT 3aKOHBI U 0OCYXIaIOT
nonutudeckue mpobnembl. B mamate nmopnoB Oonee 1100 mOCTOSHHBIX YJICHOB, OHH
M3Yy4aloT U MepecMaTpUBAIOT 3aKOHBI.




KonTtpoabHnas pabora Ne6
«l'ocynapcTBeHHOE YCTPOICTBO, IPABOBbIE HHCTUTYThI»
HNHcTpyknus:
Byl[BTe BHUMATCJIbHBI ITPU BBITIOJIHCHUH 3aJIaHUS.
Bpewmst Ha BeimosiHeHne — 90 MUHYT.
Il variant
Answer the following questions:
The USA

1. Who is the head of the executive branch in the USA?

2. Which officials in the USA are elected and which are appointed?

3. Isthe head of state elected directly by the people in the USA?

4. Can the people of the USA exercise their power through their representatives?

5. Which institution represents the judicial branch of government?
2. Translate into Russian:

1. abranch
2. executive
3. power
4. responsible to / for
3.Translate from 5. a house Russian into English:
Poccus - 6. majority Mpe3uJEHTCKas
pecryonuka. [IpesumenT —  riaBa
roCyapcTBa. 7. to represent
On BLIOHpaeTCst 8. a representative HapooM. OH BOBJIEYEH B
paboty 9. to elect 3aKOHOJATEJILHON U
WCIIOJTHUTENBHON 10. elected BETBEU BJIACTH.
DdenepanbHOE cobpaHHe COCTOUT U3
Cosera

Oenepaunu U Jlymbl U IPEICTaBISIET 3aKOHOAATEIbHYIO BETBb BIIACTH.
®denepalibHOE MPABUTEIBCTBO MPEJICTABISIET UCIIOTHUTEIBHYIO BETBb
Biactu. [Ipesunent nasnavaet [lpenacenarens [IpaButenscrBa, HO Jyma
JOJIKHA 0A0OPUTH €ro Ha3HAUYEHHUE.
[Ipe3uaeHT umeeT peanbHyIO BIaCTh U MOXKET JIaXe PaciycTUTh Jymy.

Kpurepuy ouennpanus JEKCHYCCKOro 3ANANNA:
Kaxxnprit TepmuH onieHnBaeTcs B 1 6aui, MakcuMalibHOE KoJudecTBo 6amioB — 10
Kpurepuy oueHuBanus NUCLMEHHOIO IIEPEBOIAL
ITucbMeHHBIN TEPEeBO OPUTHHAIBLHOTO CICIHATU3UPOBAHHOIO TEKCTa ¢ MHOCTPAHHOTO SI3bIKa
Ha POAHOM sBJsIeTCS 3)PEKTUBHBIM CIIOCOOOM KOHTPOJIS ITOJIHOTHI ¥ TOYHOCTH IIOHUMAHUSL.
[Tpu olleHKe MMCEMEHHOTO MEePEBOIa YYUTHIBAIOTCS CIICIYIONINE KPUTCPHH:
- Hay4HBIH CTUJIb IEPEBOJIA;
- TOYHOCTh Y SKBUBAJIIEHTHOCTh NIEPEBOJIA;
- cBOOOTHOE BIa/ieHHe MpodeCCHOHATBHON TEPMUHOIOTUEN;
- COOII0JICHNE BCEX CTPYKTYPHO-TPaMMaTHYECKUX KaTErOPHi MpH mepeaade
uHpOpMalUu.
B cooTBeTcTBUM C ypOBHEM BBITIONHEHUS 33JaHHUsI MOKET IMOJIYYUTh CIEAYIOIIee KOJTUYECTBO
0aJlIoB:
5 6anIoB — COOTBETCTBUE BBINICIEPEUNCICHHBIM KPUTEPUSM B MTOJIHOM 00beMe;
4 Ganna — HAYYHBIN CTHIIb HE BBIIEPXKAH, OCHOBHBIE CTPYKTYPBI TEKCTa MepeAaHbl YaCTUYIHO;
3 Oamma - SI3BIKOBBIE CPEACTBA HCIOJIb30BaHBl HEKOPPEKTHO,  HapyIIeHa JoTHYecKas
MOCJIEIOBATENIFHOCT  MEPEBO/A, TOTEPSHO CTPYKTYPHO- CEMAHTHUYECKOE SIIPO TEKCTa;



2 Oamma — HE COONIOIEHBI OCHOBHBIE KPUTEPUHU, CTYASHT HE UMEET JOCTATOYHOTO 3HAHUS
JICKCUYECKOTO MaTepHala 1o CHeIHaTbHOCTH.

KonTtpoabHnas paboraNe7
«IIpupoaa u 4yenoBexk»
NHcTpyknus:
By[[I)Te BHUMATCJIbHBI ITPU BBITIOJIHCHUH 3a1aHUs.
Bpewmst Ha BeimosiHerne — 90 MUHYT.
Bapuanr 1
1. Put the words into the columns according to the sounds:
Hurricane  Tornado Volcano Eruption  Earthquake  Thunderstorm Tsunami
Flood Forest fire  Snowstorm

[r] [ei] [ou] other

2.CO0III/IHI/I NMpaBUJIbHBIC BADUAHTBI:

1. a good deal of cloud a. SlcHast coHeYHas TIorofia
2.mist b. O6nauno
3.sunny spells C. TyMaH
4.mainly dry d. mepeMeHHast 00TaYHOCTh
5.strong winds €. 3aMOpO3KH
6.showers f. BeTep
7.patcy rain g. MeCTaMu JI0KIb
8.heavy rain h. cunbHBIE HOX AN
9.arisk of frost i. TNBEHB
10.clear spells

3.IlepeBennTe TEKCT HA PycCKMii SA3BIK:
Climate
Climate is the weather a certain place has over a long period of time. Climate has a very

important influence on plants, animals and humans and is different in different parts of the world.
Some scientists think that the world is becoming hotter. If you compare Moscow winter and
summer temperatures at the beginning of our century and at its end you will see that climate has
really changed. Winters have become warmer.

Sometimes there is little snow in January, and there were winters when it rained on the New
Year’s Eve. Many people say that it is so because of the greenhouse effect. During the last 100
years people have produced a lot of carbon dioxide. This gas in the atmosphere works like glass in a
greenhouse. It lets heat get in, but it doesn’t let much heat get out. So the atmosphere becomes
warmer. Where does the carbon dioxide come from? People and animals breathe in oxygen, and
breathe out carbon dioxide. We produce carbon dioxide when we burn things. Trees take this gas
from the air, and produce oxygen. But in the last few years, people have cut down and burn big
areas of rainforest. This means there are fewer trees, and, of course, more carbon dioxide! As we see
the climate in different parts of the world changes a little from year to year.

These changes can be dangerous for our planet, which needs protection. Earth is  millions
of years old, much older than the humans. We know many of its secrets.

KonTpoubHnas pabGoraNe7
«IIpupona u yesI0BEeK»
HNHcTpyknus:
byapTre BHMMATEIbHBI IPU BHITIOJHEHUH 3a/1aHUS.
Bpewmst Ha BeimosiHeHne — 90 MUHYT.
Bapuanr 2
Put the words into the columns according to the sounds:




Tornado Volcano Thunderstorm

Flood Forest fire

Hurricane
Tsunami

Eruption
Snowstorm

Earthquake

] [ei] other

fou]

2. COCI{I/IHI/I NMpaBUJIbHBIC BADUAHTDI:

1. hurricane a. HaBOJTHCHHE
2.tornado b. semnsTpecenune
3.volcano C. yparau
4.eruption d. 6ypan
5.earthquake e.rposa
6.thunderstorm f. Bynkan
7.tsunami g. TOpHAI0
8.flood h. nyHamu

9.forest fire
10.snowstorm

i. JIeCHOI moKap
J. M3BepIKeHHE BYJIKaHA

3. IlepeBeauTe TEKCT HA PYCCKUI A3BIK:
Weather

The weather is a subject we can always talk about. It often changes and brings cold and heat,
sunshine and rain, frost and snow. One day is often unlike the next. In summer the sun shines, often
there is no wind and there are no clouds in the sky which is blue and beautiful. We can see stars and
the moon at night and people like walks, outdoor games and sports in the fresh air.

When autumn comes, the days become shorter and colder. It gets dark earlier and often heavy
clouds cover the sky bringing rain with them.

Sometimes there is heavy rain, so that an umbrella or a raincoat is necessary if we don't want to
get wet through. Then you can hear people say, "What bad weather! When is this rain going to stop?"
Many people then catch cold and must go to bed. Then a fire at home is so pleasant. At last frost and
Snow come.

Fields, forests and houses are covered with snow and rivers and lakes with ice. But spring again
brings sunshine and warm winds. Sometimes it snows but snow will not remain long, it will melt in
the warm sun. Spring will bring bright sunshine, green grass and flowers.

We usually say: "A nice day", "Not a bad day" or "It's nice weather for the time of the year" if
the weather is fine.

We can say: "It looks like rain”, "It looks like snow" of "It's bad weather" when the weather is
bad.

ITaJIOH OTBETOB

Bapuanr 1
1. Put the words into the columns according to the sounds:
[M] [ei] [ou] other
Hurricane Tornado Tornado Tsunami
Eruption Volcano Volcano Forest fire
Thunderstorm Earthquake Snowstorm
Flood
2.CoennHM NpaBUJIbHbIE BAPHAHTHI:
2. 1-b, 2-c, 3-a, 4-a, 5-f, 6-i, 7-g, 8-h, 9-¢, 10-d
Bapuanr 2
1. Put the words into the columns according to the sounds.
(M [ei] [ou] other
Hurricane Tornado Tornado Tsunami
Eruption Volcano Volcano Forest fire




Thunderstorm Earthquake Snowstorm

Flood

2. COC}II/IHH l'[paBI/I.]'ILHLIe Bapl/IaHTbI:
1-c, 2-g, 3-f, 4-j, 5-b, 6-€, 7-h, 8-a, 9-i, 10-d

Kpurepyy oneHuBaHNs JEKCHIECKOI0 3a/IAHNUS:
Kaxnpiit TepmMuH oneHnBaercs B 1 6aii, MakcCUMaIbHOE KOJTMIecTBO 6amioB — 20

Kputepyuu onleHHBaHNS NUCHEMEHHOIQ NIEPEBO/IA:
[TucbMeHHBIH MepeBO] OPUTHHAIBHOTO CIIECIUATU3UPOBAHHOTO TEKCTa C MHOCTPAHHOTO SI3bIKA
Ha poJHOU siBisieTcst 3PPEKTUBHBIM CLIOCOOOM KOHTPOJIS TIOJTHOTHI M TOYHOCTH IOHUMAHHS.
[Ipu onieHKe MICEMEHHOTO MEPEBOIA YUUTHIBAIOTCS CIECIYIOUINE KPUTEPHH:
- HAY4YHBIA CTHJIb IEPEBOA;
- TOYHOCTB M DKBUBAJICHTHOCTH MIEPEBOJIA;
- cB0OOJHOE BIaJieHUE MPO(HECCHOHATFHON TEPMUHOJIOTHEH;
- coOro/IeHre BCeX CTPYKTYPHO-TPAMMaTHUECKUX KaTeTOPUH IpH nepeaaye
nH(popMalnH.
B cooTBeTCTBHM C YpOBHEM BBITIOJHEHHS 3aJlaHUS MOXKET MOJYYHUTH CIEIYIoIee KOJIHMUECTBO
0aioB:
5 6ayIoB — COOTBETCTBHE BBHIICTIEPEUHCICHHBIM KPUTEPHUSIM B ITOJTHOM 00beMe;
4 Gayta — HAyYHBIA CTHIIb HE BBIJIEPXKaH, OCHOBHBIE CTPYKTYPHI TEKCTa TepeIaHbl YaCTUYHO,
3 Oamma - SI3BIKOBBIC  CPEJICTBA HCIIOJIb30BaHBl HEKOPPEKTHO,  HapyIleHa JIOTHYecKas
MOCIIEIOBATEIILHOCTh  MEPEBOJIA, TIOTEPSHO CTPYKTYPHO- CEMaHTHUYECKOE SAPO TEKCTA;
2 Gauta — He COOJTIOZICHBI OCHOBHBIC KPUTEPHH, CTYICHT HE UMEET JOCTATOYHOTO 3HAHUS

JICKCHMYECKOT'O MaTepuajia 1o CriciuaJlbHOCTH.

KontpoabHasi padora Ne8 «Geometric Solids»
HNucTpykuus:
Ey,I[BT € BHUMATCJIbHBI IIPU BBITIOJTHCHUH 3a1aHUs.
Bpewms Ha BeinosiHeHue — 30 MUHYT.
1. How many dimensions has the cube?
a)3;, b)l, ¢)2;, dO
2. How many dimensions has the sphere ?
a)0; b)1, ¢3; d2
3. How many bases has a cylinder?
a) 0; by, «¢)2; d)3
4. How many bases has a cone?
a) 0; b) 1; c)2; d)3
5. How many bases has a sphere?
a)l, b)O; c)2;, d)3

6. How many edges has a cylinder?
ajo;, b)l, c¢)2; d)3
7. How many edges has a triangle pyramid?

a) 5; by6; <¢)8;, d)4

8. How many edges has a parallelepiped?
a)10; b)8, ¢)3; d)6

9. How many vertexes has a cone?
a)l, b5 ¢7;, d)8

10.How many vertexes has a cube?
a) 8; b)6; c¢)4; d) 2

11.How many vertexes has a parallelepiped?
a) 3; b) 5; c)6;, d)8

12. Which objects are conical in shape?



a) a pyramid, b) acone;  c) asphere; d) a parallelogram
13. Which objects are hemispherical?
a) atriangle; b) a square; c) a parallelogram;  d) acircle.
9TaJIOH OTBETOB.
l.a;2.c;3.c;4.a;5.b;6.a;7.d;8.d;9.a;10.a; 11. d; 12. b; 13. d.
Kpurepuu ouenku: (drns mecma)

IIpoueHT pe3yIbTATHBHOCTH (MPABHILHBIX O1eHKa YPOBHS MOATOTOBKH
OTBETOB) 0aJ171 (0TMETKA) BepOabHBbIN aHAJIOT
90 - 100 5 OTJIIMYHO
75 -89 4 XOpOIIIO
60 - 74 3 YJIOBJIETBOPHUTEIHLHO
MeHee 60 2 HEYOBJICTBOPUTEIHHO

KonTpoabHnas pabora Ne9
«IIpOMBIIEHHOCTb, TPAHCIIOPT»
NHcTpyknus:
By)IBTe BHUMATCJIbHBI ITPU BBITIOJTHCHUH 3aIaHUs.
Bpewmst Ha BeimosiHeHHe — 90 MUHYT.
Bapuanr 1
1. lIpounTaiiTe TeKCT, MepeBeUTEe €r0 M OTBEThHTE HA CJIeyIOIIHe 32 HUM BONPOCHI:
Transport in Britain

You can reach England either by plane, by train, by car or by ship. The fastest way is by plane.
London has three international airports: Heathrow, the largest, connected to the city by underground,;
Gatwick, south of London, with a frequent train service: Luton, the smallest, used for charter flights.

If you go to England by train or by car you have to cross the Channel. There is a frequent service
of steamers and ferryboats which connect the continent of the south-east of England.

People in Britain drive on the left and generally overtake on the right. The speed limit is 30 miles
per hour (50km/h) in towns and cities and 70 m.p.h (110km/h) on motorways.

When you are in London you can choose from four different means of transport: bus, train,
underground or taxi. The typical bus in London is a red double-decker. The first London bus started
running between Paddington and the City in 1829. It carried 40 passengers and cost a shilling for six
kms.

The next to arrive were the rain: now there are twelve railway stations in London. The world’s
first underground line was opened between Baker St. and the City in 1863. Now there are ten
underground lines and 273 underground stations in use. The London underground is also called the
Tube, because of the circular shape of its deep tunnels.

Questions:

What is the fastest way of traveling?

How many airports are there London?

What kind of service helps to cross the Channel?
What are some “rules” of driving in Britain?
What does typical bus in London look like?
Where was the first underground opened?

Why is London underground called the Tube?

Nook~ownhE

KonTpoabHnas pabora Ne9
«IIpOMBINLIEHHOCTb, TPAHCIIOPT»
HNHcTpyknus:
BynbTe BHUMATENbHBI IPH BBITNIOJIHEHUH 33JaHHUS.
Bpewmst Ha BeimosiHeHne — 90 MUHYT.




Bapuanr 2
1. HpoanaﬁTe TEKCT, IEPEBCAUTE €0 U OTBETHTE HA CJICAYIOIIHNE 32 HUM BOIIPOCHI:
London Traffic
London is so large that visitors must learn to use buses and the underground to get about. London
taxis are too expensive for any but the rich. You can get a map of the underground and the bus routes
at any ticket office. The word “Underground” across a large circle shows you where the stations are.
The London underground is called the “tube”.

Bus stops are marked clearly. In the suburbs buses do not stop unless there are passengers who
wish to get on or off. These stops are marked “Request Steps”.

Inside some buses you will see the notice: “Please, state you destination clearly and have the
exact fare ready”. It is easy enough to tell the conductor where you want to go to, but not always
possible to have the exact fare. The conductor will always give you the change.

The London buses are very large. They have seats both upstairs and downstairs. English children
like to sit on the front seats of a big London bus. They can see everything that is happening in the
streets.

Here are some of the things you may hear on a bus in London:

“Fares, please.”

“Four pence, please.”

“Full up inside; plenty of seats on top.”
“Standing room only.”

“No, sir, this bus does not go to Victoria Station.”
“You want a number 11.”

“No more seats on top; five seats inside.”

In Great Britain traffic keeps to the left. Motor-cars, buses and cyclists must all keep to the left
side of the road. In most other countries traffic keeps to the right. There is heavy traffic in London
and you must observe traffic rules.

Questions:

What must visitors of London learn? Why?
What can you get at any ticket office?

What does the word “Underground” show?
How is the London underground called?

Which stops are marked “Request Stops™?
What will you see inside some buses?

What seats have London buses?

Why must you observe traffic rules?
Kpurepuy oneHuBanus nuchMEHHOIO NIEPEBOIA;

IInceMeHHBIN IEpEBOJA OPHUI'MHAJIBHOI'O CIICHHUATIU3HUPOBAHHOI'O TCKCTAa C MHOCTPAHHOI'O A3bIKa
Ha pO,Z[HOfI SABJISACTCA 3(1)(1)6KTI/IBHLIM croco0ooM KOHTPOJIA ITOJTHOTBHI U TOYHOCTHU ITIOHUMAHUS.

HpI/I OLCHKEC MHNCbMEHHOTO IIEPEBOAA YIUTBHIBAIOTCA CICAYIOMINE KPUTCPUU:

- Hay‘lHHﬁ CTHJIb IICPCBOAA,

- TOYHOCTb U OKBUBAJICHTHOCTD IICPCBOJIA,

- cBOOOTHOE BIa/ieHHe MpodeCCHOHATBHON TEPMUHOIOTUEN;

- coOo/IeHre BCceX CTPYKTYPHO-TpaMMaTHUECKUX KaTeropuil pu nepeaaye
uHpOpMalUu.

B cootBercTBUM C YPOBHEM BBLINIOJTHCHHUA 3aJdHUA MOKET IMOJYUYUTH CICAYROIICC KOJINYCCTBO
0aIIoB:

5 0aimioB — COOTBETCTBHE BBITICIICPECYHUCIICHHBIM KPUTCPUAM B IIOJTHOM 06’beMe;
4 damta — Hay‘-IHLIfI CTWJIb HC BBIACPIKAH, OCHOBHBIC CTPYKTYPBI TCKCTA MEPCAAHbI YaACTHYHO,

ONoa~wWNE

3 Oamma — A3BIKOBBIC CPEACTBA HUCHOJB30BAHBI HCKOPPCKTHO, HapymcHa JIOrn4cCKasa
MOoCJICAOBATCIIbHOCTE IICPEBOJAA, TIMOTCPAHO CTPYKTYPHO- CCMAHTUYCCKOC AAPO TCKCTA,
2 Oamma — HC CO6J'IIO,Z[€HLI OCHOBHBIC KPUTCPUHU, CTYACHT HC HUMCCT NOCTATOYHOI'O 3HAHHUA

JICKCHUYCCKOI'0 MaTcpualia 1o CueuuaJIbHOCTH.



Kpurepuy olleHUBAHNSA NOCAETEKCTOBOIQ 3A/IAHMS:
36amra — BermosHeHo 90 - 100% ot Beero 3aganus

2 6ayna — BemoaHeHo 80 - 90% ot Bcero 3aaHus
1 6ann — BemonHeHo 70 - 80% ot Bcero 3aanus
0 6ayoB - BemMoaHEeHO MeHbIne 70%
Qouiee oneHNBAHME:
[lo 3axiroueHIO TMPOBEACHUS UCIBITAHUS KOJIMYECTBO OajUIOB BBICTABISIETCA C YYETOM
BBIIIETIEPEUHUCICHHBIX KPUTEPUEB U BHIBOJAUTCS CpeHUI Oas1 1o 4-X 6ajuIbHON CUCTEME:
11 - 13 6amnoB — "oTau4aHO"
7 - 10 6ammoB — "xopomio"
3 - 6 6ayoB — "yIIOBICTBOPUTEILHO"
Hwxe 3 6ayuioB — "HEymOBIETBOPUTEIHHO"

Kontpoabnas padora Ne 10
«OoopynoBanue. Pabora»
(mnst mpodpeccuu 15.01.05 Crapruk
(py4HOM M YaCTMYHO MEXaHU3UPOBAHHON CBapKU (HAIJIaBKH));
s crieruanbHocTH 22.02.06 CBapoyHOE IPOU3BOICTBO)

WNHcTpyknus:
BynbTe BHUMATENBHBI IPH BHITIOJTHEHUH 33 JaHHUS.
Bpewmst Ha BeimostHeHHe — 90 MUHYT.

1.IlpounTaiiTe TEKCT U BHINOJHUTE 3aJAHU:
Welding

Welding is a process when metal parts are joined together by the application of heat, pressure,
or a combination of both. The processes of welding can be divided into two main groups:

* pressure welding, when the weld is achieved by pressure and

* heat welding, when the weld is achieved by heat. Heat welding is the most common welding
process used today.

Nowadays welding is used instead of bolting and riveting in the construction of many types of
structures, including bridges, buildings, and ships. It is also a basic process in the manufacture of
machinery and in the motor and aircraft industries. It is necessary almost in all productions where
metals are used.

The welding process depends greatly on the properties of the metals, the purpose of their
application and the available equipment. Welding processes are classified according to the sources
of heat and pressure used.

The welding processes widely employed today include gas welding, arc welding, and
resistance welding. Other joining processes are laser welding, and electron-beam welding.

Gas Welding

Gas welding is a non-pressure process using heat from a gas flame. The flame is applied
directly to the metal edges to be joined and simultaneously to a filler metal in the form of wire or
rod, called the welding rod, which is melted to the joint. Gas welding has the advantage of using
equipment that is portable and does not require an electric power source. The surfaces to be welded
and the welding rod are coated with flux, a fusible material that shields the material from air, which
would result in a defective weld.

Arc Welding

Arc-welding is the most important welding process for joining steels. It requires a continuous
supply of either direct or alternating electrical current. This current is used to create an electric arc,
which generates enough heat to melt metal and create a weld.

Arc welding has several advantages over other welding methods. Arc welding is faster because
the concentration of heat is high. Also, fluxes are not necessary in certain methods of arc welding.



The most widely used arc-welding processes are shielded metal arc, gas-tungsten arc, gas-metal
arc, and submerged arc.
Shielded Metal Arc

In shielded metal-arc welding, a metallic electrode, which conducts electricity, is coated with
flux and connected to a source of electric current. The metal to be welded is connected to the other
end of the same source of current. An electric arc is formed by touching the tip of the electrode to the
metal and then drawing it away. The intense heat of the arc melts both parts to be welded and the
point of the metal electrode, which supplies filler metal for the weld. This process is used mainly for
welding steels.

Vocabulary:
to join — coeMHATH flame — mmamst
pressure welding — cBapka nasienne edge — kpai
heat welding — cBapka HarpeBanuem Simultaneously — oxHoBpeMeHHO

instead — BMecToO, B3aMeH filler — manomuurens
bolting — ckperutenue 6oaramu Wire — mpoBoJIOKa
riveting — kJemnka rod — npyT, cTepKeHb
basic — ocHoBHO to melt — mnaButh(cs)

to manufacture — u3roToBNIATH joint — coeauHeHHe, CTHIK
to depend — 3aBuceth OT advantage — nmpeuMyIecTBo
purpose — renb to require — TpeboBath
available — umeromnuiicss B HATMYUU  HYKIAThCSI

equipment — obopynoBaHue surface — mMoBepXHOCTH
SOUrCe — UCTOYHUK coated — MOKpBITHII

gas welding — rasocBapka flux — duroc

arc welding — snekrpoayrosas csapka fusible — maBkuit

resistance welding — xonrakrtHas cBap to shield — 3acnonsTs, 3amumars
laser welding — na3epnas cBapka touching — kacanwue
electron-beam welding — tip — KoHYHK
3JICKTPOHHO-JTy4€eBasi CBapKa

2. OTBeTHTE HA BONPOCHI NUCHMEHHO:

1. How can a process of welding be defined?

2. What are the two main groups of processes of welding?
3. How can we join metal parts together?

4. What is welding used for nowadays?

5. Where is welding necessary?

6. What do the welding processes of today include?

7. What are the principles of gas welding?

8. What kinds of welding can be used for joining steels?
9. What does arc welding require?

10. What is the difference between the arc welding and shielded-metal welding?

. HaiiaiuTe aHIJIMiiCKUe IKBUBAJICHTHI CIEeAYIOLIUX CJIOB:
. CBapKa JIaBJICHUEM

. TETJIOBasi CBapKa

. bonToBOE (KJIemaHoe) COeAMHEHNE

. IPOLIECC CBAPKHU

. 3aBHCETh OT CBOICTB METAINIOB

. IMeroIIeecs: 000pyI0BaHUE

. CBAPOYHBIM DIIEKTPOJ

. TUNTABKUHM MaTepua

O NO O WNPEFP W



9. nedexTHBIN cBapHOIl OB

10. HenpepbIBHAS 1M01a4a IIEKTPUIECKOTO TOKA
11. snexTpuueckas gyra

12. UCTOYHMK BIEKTPHUECKOTO TOKA

ITAaJIOH 0TBETOB
2.0T1BeThI HA BONIPOCHI:
1. Welding is a process when metal parts are joined together by the application of heat, pressure, or a
combination of both.
2. The processes of welding can be divided into two main groups:

* pressure welding, when the weld is achieved by pressure and

* heat welding, when the weld is achieved by heat. Heat welding is the most common welding
process used today.
3. Nowadays welding is used instead of bolting and riveting in the construction of many types of
structures, including bridges, buildings, and ships.
4. It is also a basic process in the manufacture of machinery and in the motor and aircraft industries.
5. It is necessary almost in all productions where metals are used.
6. The welding processes widely employed today include gas welding, arc welding, and resistance
welding.
7. Gas welding is a non-pressure process using heat from a gas flame. The flame is applied directly to
the metal edges to be joined and simultaneously to a filler metal in the form of wire or rod, called
the welding rod, which is melted to the joint.
8. Arc-welding is the most important welding process for joining steels.
9. It requires a continuous supply of either direct or alternating electrical current. This current is used
to create an electric arc, which generates enough heat to melt metal and create a weld.
10. In shielded metal-arc welding, a metallic electrode, which conducts electricity, is coated with flux
and connected to a source of electric current.

3. AHIJIMHCKNE JKBUBAJIEHTHI CJIEAYIOIIUX CI0B:
pressure welding

heat welding

bolting

the welding process

the properties of the metals

the available equipment

welding rod

fusible material

9. defective weld

10. a continuous supply of electrical current
11. an electric arc

12. electric power source

NGO~ wWNE

KonTposbnas padora Ne 10
«O0opynoBanue. Padora»
(st mpopeccun 15.01.26 Tokapb-yHusepcai, 23.01.08 Crecapps 0 peMOHTY CTPOUTEIBHBIX MAIlIH)
HNucTpyknus:
byapTre BHMMATEIbHBI IPU BHITIOJHEHUH 3a/1aHUS.
Bpewmst Ha BeimosiHeHne — 90 MUHYT.

1. IlpouuTaiiTe TEKCT ¥ BHINOJTHUTE 32/1aHUA:
ENGINE LATHE



1. The engine lathe in the most commonly used machine-tool. It is used for great variety
of metal operations, such as turning, drilling, screw cutting, and many others.

2. The principal units of the lathe are the bed, the headstock, the tailstock and the carriage
with the apron.
3. The bed is the base of any machine-tool and it is made of grey iron casting on which

the saddle and the tailstock slide along special guide ways. The headstock is also located and bolted
on the bed.

4. The headstock contains the spindle and the speed gearbox. The spindle is the part of
the machine to which power is applied to rotate the work. The changing of the spindle speed is
effected by levers.

5. The tailstock consist of a casting fitted to the bed. The function of the tailstock is to
support one end of the work turned between centres and to mount the tools.

6. The carriage of the lathe, which carries the tool, is made up of two principal parts: the
saddle and the apron. The saddle travels along the guide ways of the bed.

7. The apron represents the front wall of the carriage. On the front of the apron are
mounted the handles and levers by which the actions of the tool are controlled.

2. HajiguTe B npaBoii KOJIOHKe PyccKHe IKBUBAJIEHThI AHTJIMICKUX CJI0B U CJI0BOCOYETAHUIA:
1. engine lathe a. 3aHss 0abka

2. turning b. paptyk (cynmopra)

3. drilling C. KapeTka

4. alloy steel d. mepeauss 6abka

5. headstock €. CBepIicHHE

6. tailstock f. TokapHO-BUHTOPE3HBII CTAHOK
7. saddle 0. Hape3aHHE BUHTOB

8. lever h. peraar

9. apron 1. pyKOsTKa

10. carriage J. cymmopt

11. guide ways K. o6TOouKa

12. handle |. HanpaBastIOIIKE (CTAHKA)

3. HaiiguTe COOTBETCTBYIOIIME OTBeTHI HAa BONPOCHI M HANMIIMTE HUX B TOM
nmoc;jieaA0BaTeJIbHOCTH, B ROTOpOﬁ 3a/IaHbI BOIIPOCHI:

Bonpocsl

1.  What operations is the engine lathe used for?

2 What are the principal units of the lathe?

3. What units are located on the bed?

4. What is the function of the tailstock?

5 Where are the handles and levers mounted?

OTBeThI

To support one end of the work turned between centres.

On the front of the apron.

For turning, drilling, screw cutting and others.

The headstock, the saddle and the tailstock.

The bed, the headstock, the tailstock and the carriage with the apron.

P00 o

4. 3akoHYHUTe NpeI0KeHHs, BHIOPAB COOTBETCTBYIOLINI BAPDMAHT OKOHYAHUS:

1. The unit that contains the 2. The unit that support one end of
spindle and the gearbox is the work turned between
called... centres is called...

3. The unit which carries the tool
is called...



4. The unit on which the saddle
and the tailstock slide is
called...

5. The units, by which the actions
of the tool are controlled, are
called...

a) The carriage
b) The headstock
c) The tailstock
a)The carriage
b) The bed
c) The headstock
a) Guideways
b) The saddle and the apron
c) Leversand handles



9TaJIOH OTBETOB

2. HaiinuTe B NpaBoii KOJIOHKEe PYyCCKHe IKBUBAJEHTHI AHIJIMHCKUX CJIOB U
CJIOBOCOYETAHMIA:
1-f, 2-k, 3-e, 4-g, 5-d, 6-a, 7-c, 8-h, 9-b, 10-j, 11-I, 12-i

3. HaiiguTe cOOTBETCTBYIOIIHE OTBETHI HA BONMPOCHI U HAMMIIIUTE UX B TOi
M0CJIe0BATEbHOCTH, B KOTOPO# 32/1aHbI BOIPOCHI:
1-c, 2-e, 3-d, 4-a, 5-b

4.3akoHYNTE MPeNJI0KeHNs], BLIOPAB COOTBETCTBYIOIIUI BADUAHT OKOHYAHUSA:
1-b, 2-c, 3-a, 4-b, 5-c

KonTtpoabnas padora Ne 10
«OoopynoBanue. Pabora»
(mns mpodeccuit 15.01.36. Hedexrockonuct, 15.01.19 MacTtep KOHTPOJIBHO-U3MEPHUTEIBHBIX
npuOOpPOB U aBTOMATUKH,
i crienuanbHOcTH 15.02.01 MoHTaX M TeXHMUYECKast SKCIUTyaTalus POMBIIIIEHHOTO
000pyI0BaHUS )

WNHcTpyknus:

BynbTe BHUMATENBHBI IIPH BHITIOJTHEHUH 33 JaHHUS.

Bpewmst Ha BeimostHeHHe — 90 MUHYT.

1.IIpounTaiiTe TEKCT M BHINIOJHUTE 32IAHUS:

The Electric Current

When a conductor joins two points of different potential, electricity flows from one to the other
along the conductors until the potentials are equal. This process is very rapid, and with good
conductors is completed in a fraction of a second. While it lasts, an electric current is said to
flow from one point to the other. By convention, the direction of the current is said to be that
from the higher to the lower potential, i.e. the direction in which positive charges would travel,
but actually, owing to their much greater mobility, it is the negative electrons which move, and it
is their motion which constitutes the current.

2. IlepeBenuTe ciioBa:
Conductor, potential, rapid, direction, positive, charge, point, motion, negative, current,
electricity, wire.

3. Boi0epuTe npaBWIbHBIN OTBET:

1. When a conductor joins two points of different potential... flows from one to the other.
a) process b) electricity c) motion

2. This process is very ... and is completed in a fraction of a second.

a) large b) slow c) rapid

3. The direction of the ... is that from the higher to the lower potential

a) current b) electricity c) charge

4.3aKOHYMTE NPeIJI0KeHHUsI, BLIOPAB COOTBETCTBYIOIINI BAPDHAHT OKOHYAHMA:
1. The electric current passing through a wire ....

a) will cool that wire b) will heat that wire

2. By connecting wires to the top and bottom discs Volta ....

a) was able to get electric current b) was able to heat a conductor

3. When an electric current flows along a conductor, ....

a) the latter becomes strong b) the latter becomes heated

ITAJIOH OTBETOB



2. IlepeBenuTe cjIOBa:
Conductor-npoBotHrK
Potential-morenmuan
Rapid-0bicTpbIit
Direction- nanpasienue
Positive-110J10)KUTEIbHBIN
Charge-paspsin
Point- Touka
Motion-gBuxenue
Negative-oTpurareabHbIi
Current-tox
ElectricityanexktpuuecTBo
Wire-nipoBos
3.BbiGepuTe npaBuabHbIN oTBeT: 1-b 2-C 3-a
4.3akoHYNTE NMPENI0KEHUS, BLIOPAB COOTBETCTBYIOIHII BAPUAHT OKOHYAHUS
1-b, 2-a, 3-b
Kpurepuy olleHUBaHUsA YTEHUS:
[Tpu oreHKe YTEHUS YIUTHIBAIOTCS CIICIYIONINE KPUTEPHH:
- cBOOOJTHOE YTEHHE BCITYX;
- COOMIO/ICHUE TIPABUIT YTEHUS,
- YMEHHE BBIJICITUTEH OTIOPHBIE CMBICIIOBBIC OJIOKH B OTPBIBKE;
- BBIJEJIEHUS JTOTHYECKUX CBsI3€EM B OTPBIBKE;
- COOJTIO/ICHUE MHTOHAITMOHHOTO PUCYHKA, CBOMCTBEHHOTO HHOCTPAHHOMY SI3BIKY.
3a kaxapii u3 kpurepues 1 6amr. Utoro 5 6amos.
Kpurepuy onennBanus N0CACTCKCTOBOIO 3AJANMS:
36amna — sernosaueno 90 - 100% ot Bcero 3aganus
2 0amta — BeimosiHeHO 80 - 90% OT BCero 3amaHust
1 6amn — Beimonueno 70 - 80% ot Bcero 3amaHus
0 6amnos - BemmonHeHo Menbie 0%
Kpurepuy oueHuBaHNs JEKCHYECKOI0 3ANAHM:
Kaxxnprit TepmuH onieHnBaetcs B 1 6ai, MakCMMalIbHOE KOJMYECTBO OamioB — 12.
Oouiee oneHUBaHue:
[To 3akirOYeHHI0 MPOBEJACHHS HCIBITAHUS KOJIMYECTBO OA/UIOB BBICTABISETCS C YY4ETOM
BBIIICIICPEYHCICHHBIX KPUTEPUEB M BBIBOJUTCS CPEIHUI 0ast 1o 4-x O0auIbHOH cucTeMe:
19 - 20 6amnoB — "oTiuyHO"
16 - 18 6amioB — "xopormo"
13 - 15 6annoB — "ynoBIETBOPUTENHHO"
Huxe 12 GannoB — "HeynoBIETBOPUTEIHHO"

5.2. [IpomexxyTouHas aTTecTalus

[Ipomexxyrounass —arTectanus MOpoxXoAUT B (opme nuddepeHIMpOBaHHOIO 3adeTa B
COOTBETCTBMM C pabounMu nporpammamu npodeccuit: 23.01.08 Cnecapp 1o peMOHTY
cTpouTeNbHbIX MamuH, 15.01.26 «Tokaps-yHuBepcam», 15.01.05 Cpapuiuk (py4yHOH U YaCTUYHO
MEXaHU3UpOBaHHOM cBapku (HamiaBku)), 15.01.19 Mactep KOHTPOJIBHO-U3MEPUTEIBHBIX
npubopoB u aBTomMatuk, 15.01.36. JledexTockonucr;

u crnenuanbHocTel: 22.02.06 Cpapouynoe npous3BojcTBO, 15.02.01 MoHTax M TexHHUYECKas
HKCIUTyaTaI|sl IPOMBIIUIEHHOTO 000PYZI0BaHUS).

5.2.1. 3aganue 1 poBeaeHus AU GepeHIInPOBAHHOTO 3a4eTa



Bapmuanr 1
HNHcTpyknus:
BynbTe BHUMATEIbHBI IIPU BBIIIOJHEHUH 3a/1aHUS.
Bpewms Ha BeinonHeHue — 90 MUHYT.

3ananue OtanoH VYpoBenb
OTBCTOB OCBOCHU
1. | BbiOepuTe NpaBHWIBHBII OTBET:
... come in? — Yes, sure.
a) Can I; b) I must; c) May | C) 1
2. 3anoHNTEe NPONYCKHU HY:KHOM (popMoii riarosa
to be:
1) Howold___ you? 1) are
2) What____the price of these goods? 2) is 2
3)1___ fine. 3) am
3. | YnorpedouTe mpaBMIBbHYIO (hOopMYy riiarosia:
In the morning my mother breakfast for us.
a) cooks; b) is cooking: ¢) will cook a) 1
4, Bri0epuTte ¥ BcTaBbTE B Npe/Ji0KeHHE NMPABWIbHYIO (opMYy riiaroJia.
They ... TV at the moment. b) 1
a) watch; b) are watching; c) will watch
5. CooTHecuTe BUAOBPeMeHHbIE (JOPMBI IVIAroJia ¢ XapakTepu3yoLIMHI UX
HA3BaHUSAMM: 1-b
1) to be V-ing a) Present simple 2-C 2
2) to have V3 b) Present Progressive 3-a
3) to have V, Vi c) Present Perfect
6. | BcraBbTe HY:KHBII peAJIOr:
Are you going to listen ... music or watch TV? C) 1
a) — b) for; c) to;
7. | BbiOepuTe NpaBWIBLHbIN OTBET:
Two thousand and thirty-eight C) 1
a) 238; b) 2338; c) 2038
8. YcraHoBHUTE COOTBETCTBHE MeKAy CJIOBAMU U X CHHOHUMaMHU:
CJjoBa:
1. charming 1-b
2. sociable 2-C 2
3. determined 3-a
CHHOHHMMBI:
a) making a firm decision to do something
b) pleasant or attractive
c)liking company, enjoying spending time with other people
9. Bbi0epuTe moaxoasiuii 0TBET K cJeAyolIei CUTyalluu: b) 1
- Look who’s arrived! John, nice to see you. Let me introduce you to some
friends. This is Jane and this is Robert.
a) Thank you very much.
b) Nice to meet you.
c) It was really exciting!
10. | MepeBenuTe NpeaIoKeHUE HA AHTIUACKUI SI3BIK: Children have
Jetn uMer0T paBo Ha 00pa3oBaHHe. the right to 2
education.
11. | When did the Olympic Games begin? a) 1
a) 777 BC; b) 777 AD; ¢) 177 BD
12. | Who renewed the Olympic movement? b) 1
a) Ernest Hemingway
b) Baron Pierre de Coubertin
¢) George Washington
13. | BbiGepuTe NpaBHIBLHBII OTBET: a) 1
The official head of state in the UK is ... .
a) the Queen b) the Prime Minister c)Parliament
14. | BbiGepuTe NpaBMIBLHBII OTBET: a) 1




The US Government has ... branches.
a) three; b) four; c) five

15. | BoiGepuTe NpaBHIBLHBINH OTBET:

... guarantees the basic rights of the people of Russia.
a) The President

b) The Duma

c) The Federal Assambly

a)

16. | HaiinuTe coOTBeTCTBYIOIINE OTBETHI HA BOMPOCHI M HANMIIIMTE UX B TOIt

mocJIeaI0BaTeJIbHOCTH, B KOTOpOﬁ 3aaHbI BOITPOCHI:
Bonpocst

1. What is the most important metal ?

2. What mechanical properties of metals do you know

3. What is strength

4. What is ductility?

5. What is malleability?

a. The capacity of a metal to be permanently deformed

in tension without breaking

b. Iron

c. The capacity of a metal to be deformed by compression without rupture

d. The property of a metal to resist to external loads

e. Hardness, ductility and malleability

1-b

3-d
4-a

17. | BbiGepuTe NpaBUIBLHBII OTBET:
The most important metal in use today is
a) Carbon b)iron c) some other metal

b)

18. | BbiGepuTe NpaBUIBLHBII OTBET:

Ductility is the capacity of a metal...

a) to be permanently deformed in tension without breaking
b)to be permanently deformed by compression without rupture
c) to resist to external loads and stresses

19. | BbiGepuTe NpaBUIbHBII OTBET:

Malleability is the capacity of a metal

a) to be permanently deformed in tension without breaking
b)to be permanently deformed by compression without rupture
c) to resist to external loads and stresses

b)

20. | BbiGepuTe NpaBWILHBII OTBET:

The most important properties of steel are....

a) Electrical conductivity, resistance to wear, magnetic
properties

b) Strength, ductility, mach inability.

b)

Bapuanr 2
HNucTpykuus:
bynpTe BHMMATEIbHBI IIPY BBIIIOJHEHUH 3a/1aHUS.
Bpewms Ha BeinonHeHue — 90 MUHYT.

3amanne

DTaoH
OTBETOB

YpoBeHb
OCBOCHUSI

1. | BbiGepuTte npaBUIbHBIA OTBET:
.... from? — I am from London.
a) Where are you; b) When are you; ¢) Where you are?

a)

1

2. | 3amoaHWTE MPONMYCKH HYKHOIi (hopMoii rimarosa to be:
a) | ... glad to see you.

b) Linda ... a secretary to Mr. Turner.

c¢) Where ... you customers?

a) am
b) is
c) are

3. Bbi0epuTe u BcTaBbTe B Mpe/Jio:KeHHe MPAaBWIbHYIO popMy riiarosa.
He ... a book now.
a) reads; b) is reading; c) will read

4. | BbiOepuTe H BcTaBbTe B MpesioiKeHHe MPaBUIbHYIO ¢opMy riarosa.
| ... early in the morning every day.
a) get up; b) got up; c) will get up

5. | CooTHecuTe BHIOBpPeMeHHbIe (POPMBI IJ1aro/1a ¢ XapaKkTepu3yIOIMMMH X

1-b




Ha3BaHUAMM:

1) toV, Vs a) Present Perfect

2) to be Ving b) Present Simple

3) to have V3 c) Present Progressive

3-a

BceTraBbTe HyKHBIN IpeIOr:
My sister is good ... sports.
a) in; b) at; c) of

b)

Bui0epuTe npaBHIBLHBIN OTBET:
Four thousand and thirty-nine.
a) 4039; b) 439; c) 4439

YcTaHoBHTE COOTBETCTBHE MEXKIYy CJIOBAMHA U X CHHOHUMAMM:
CioBa:

1. charming

2. sociable

3. determined

CUHOHHMBI:

a) making a firm decision to do something;

b) pleasant of attractive;

c) liking company, enjoying spending time with other people.

1-b
2-C
3-a

Bri0epuTe moaxoasiluii 0TBET K CJeAYIONIeil CUTyalum:
- What do you think of John? The man we met yesterday.

a) Well, he seems to be an interesting person.

b) Yes. It looks really very nice.

¢) He has got big brown eyes and a wonderful smile.

10.

IlepeBenuTe Mpeaio:KeHNE HA AHIVIMACKHUH A3BIK:
Jletn uMeroT npaBo Ha UH(OOPMALIHUIO.

Children have
the right to
information.

11.

Where did the Olympic Games begin?
a) Russia; b) Spain; ¢) Greece

<)

12.

Who renewed the Olympic Games movement?
a) Abraham Lincoln

b) William Shakespeare

c) Baron Pierre de Coubertin

<)

13.

Bbi0epuTe npaBWIbLHBII OTBET:
The Queen ... the bills.
a) signs; b) votes on; c) passes

a)

14.

Bbi0epuTe npaBWIBLHbII OTBET:
In USA ... is the head of state.

a) the President

b) the Prime Minister

c) the Vice President

15.

Bbi0epuTe npaBWILHbIN 0TBET:
The Russian President is elected by ... .
a) the people; b) the Supreme Court; c) the Duma

a)

16.

Haiigure COOTBETCTBYIOILIIME OTBETHI HA BONMPOCHI U HAINTUIIINTE UX B TOM

mocJiea0BaTeJIbHOCTH, B KOTOpOﬁ 3aAaHbl BOIIPOCHI:
Bonpocsi

1. What is the most important metal?

2. What mechanical properties of metals do you know

3. What is strength

4. What is ductility?

5. What is malleability?

a. The capacity of a metal to be permanently deformed

in tension without breaking

b. Iron

c. The capacity of a metal to be deformed by compression without rupture

d. The property of a metal to resist to external loads

e. Hardness, ductility and malleability

1-b

3d
4-a
5-C

17.

BbiGepuTe npaBWILHBII OTBET:
Most.... Are good conductors.

b)




a)Carbon rod
b)Metals
c)Battery

18. | BbiGepuTe MpaBHIBLHBII OTBET: C) 1
The strength of a metal is a property...

a) to be permanently deformed in tension without breaking

b) to be permanently deformed by compression without rupture
c) to resist to external loads and stressed.

19. | BoiGepuTe NpaBHIBLHBINH OTBET: b) 1
Malleability is the capacity of a metal

a) to be permanently deformed in tension without breaking
b)to be permanently deformed by compression without
rupture

c) to resist to external loads and stresses.

20. | BeiGepuTe npaBMILHBIN OTBET: C) 1
Carbon steel contains...

a)steel and cast iron

b) Iron, carbon, an alloying element.
¢)Only iron and carbon

5.2.3.IlepeueHsr maTepuanoB, 000pyI0BaHUS U UHOOPMAIIMOHHBIX UCTOYHHUKOB, UCIOJIB3YEMbIX
B ITPOMEXYTOYHOM aTTecTaluu

O6opynoBanue yueObHoro kabuHeTa « ITHOCTpaHHBIN S3BIK:
- TOCaI0OYHBIE MECTA IO KOJMYECTBY CTYICHTOB.

- pabouee MeCTO MpernoJaBaTes.

- KOMIUIEKT HATJISTHBIX TOCOOUMH.

- KOMIUJIEKT y4€OHBIX TTOCOOMIA.

5.2.4 UudopmanmoHHoe odecriedeHrne oOydeHus

OCHOBHBIC UCTOYHHKH:

l'omyGeB A.Il. Anrmmiickuii si3bik. - Yue0. IlocoOue mist ctymeHToB cpen.npod. yueO.
3aBenenuit - M.: U3natensckuii neHtp «Axkaaemus» 2010

JlonoHUTEIbHbIE HICTOYHUKH:

1 Ara6eksn W.I1. AHrnuiickuii si3bik. 17-¢ uzm., crep. ['pud MO PO. — U3a. denukc, 2010 1. 3
NuTepuer-pecypcebl

1.Learningenglish ®opma noctyma: www.bbc.co.uk/worldservice/learningenglish /

2.Teacher’sPortfolio ®opma noctymna:www.prosv.ru/umk/sportlight
3.Wordskills ®opma nocryma:www.oup.com/elt/wordskills
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